== O-I
A & 0l & AF 2 E A A
20208 & =04 LEHSIH M-S
M DM
HE: BASSHN 7S
Ce BAsEIIB A= (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= =gy 28,173,988 37,620,512 A9,446,524
= 10,000
J| 310,704
Al 413,035
s 27,440,249
HMSSHMN 5 593,446 670,650 NTT,204
Al 10,000
[ia 583,446
EMEtEDIE = 593,446 670,650 ANTT,204
Al 10,000
s 583,446
gMels2d 243 29,826 37,160 AT,334
201 2et24d] 18,226 4,560 13,666
01 At 22l 630 560 70
oz2g+g 630
OBMISE S HMLT
70,0003 x9H * 13 630
02 =224l 17,596 4,000 13,596
03323 % HA 17,596
OB MSISEHOIXN =X E sl
333,000& x12& 3,996
OBMSSESHOIXN SMRS
800,000& »12& 9,600
OdIBMSISEAIE2 S 3l 4,000,000 4,000
202 Odl 2,000 3,000 A 1,000
01 = LH 4 HI 2,000 3,000 A 1,000
O&2| o Hl 2,000,000& 2,000
204 AR A H| 9,600 9,600 0
03 EZYRFHI 9,600 9,600 0
omere sl 50,000& x16E «12& 9,600
EMES S AALY 265,000 325,000 260,000
201 et 40,000 70,000 230,000
03 & Ar2 I 40,000 70,000 230,000
ORIZILUEZAME 40,000,000& 40,000
207 & O &l 20,000 0 20,000
01 2284 20,000 0 20,000
OTWMSSTA S SHILENE A8
20,000,000& 20,000
307 21201 A 115,000 115,000 0
02 It S AIHE L 115,000 115,000 0
ogMdsrss0tel K& 20,000,000& 20,000
O=2ItE S8t 299 30,000,000& 30,000
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2M nEMSH
M HMSISHM #=
Sl WMsEIIE 2E CERED
= - — SHE]|
SN EH B (3 . EHaS e bl D=2t
AMNZEHE S 24
65,000,000& 65,000
308 XX EHSOIA 90,000 140,000 A 50,000
10 BJ1&2s0dsd 2l 90,000 140,000 A 50,000
SF0i2t001 23 40,000,000& 40,000
stsa g el O 50,000,000& 50,000
48 gretsl &0t 30,000 30,000 0
201 Let2d 20,000 20,000 0
01 At 2teltl 20,000 20,000 0
O R<Igat=:]l 20,000
OMEZ=z0d Mz 2  7,000& 2,000 14,000
Os&2=2 MH 2,500& *2,0000H 5,000
OMRES 1,000, 000& 1,000
401 Al BIZ 201 8] 10,000 10,000 0
04 S AL2tE Al & HI 10,000 10,000 0
OB LU 2A &
5,000,000& 201 = 10,000
Hotsedd Al2us 22 196,340 209,740 A 13,400
201 L2l 51,540 56,540 A5,000
01 At 22l 11,540 16,540 A5,000
O el 10,000
OSZTMSE ST HE
10,000& =1,0000H 10,000
ozg=+¢ 1,540
OZ2+ RCE 2ZE Mg
70,0003 x22F *13] 1,540
03 A2 Z Hl 40,000 40,000 0
OZ2=HAAN NS 40,000,000& 40,000
203 YR =&t 4,800 4,800 0
03 Al =AY R =& 4,800 4,800 0
OXNZIsLENE HLRFA 4,800,000 4,800
307 gl2tol & 80,000 80,000 0
02 IZHE M AHE L 80,000 80,000 0
OZ2=RCE FUSSHSEAMIZ 80,000,000& 80,000
308 XXM SO A 60,000 60,000 0
08 WHII20HStE X 60,000 60,000 0
ORUADE W XI&AS 60,000,000 60,000
FObJt= &t2tHSstn 30,280 33,750 A 3,470
201 Let24d] 6,800 6,800 0
01 At 22l 6,800 6,800 0




=y E=ni
BYSSHH 7S
BAsSI|E 2 CER-ED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@i HRE2
ostsME 2 750,000 =8 Bt 6,000
O8&ss IHUAXNS 800,000 *13] 800
301 et A= 23,480 26,950 N3,470
09 HAIAHI X & 2 1,080 1,350 A270
O NSSES HAIAHI XS 2 24 ,000& x45% 1,080
12 JIEtE A= 22,400 25,600 A 3,200
O Z AbHI 80,0003 13| *353=+8JHf Bt 22,400
ZMEE 0SSty 29 10,000 0 10,000
Al 10,000
201 et d9d| 3,440 0 3,440
Al 3,440
01 AR 22l ] 3,440 0 3,440
onlssnw 29 MY 3,440,000 3,440
Al 3,440
301 et A= 6,560 0 6,560
Al 6,560
12 JIEtE A= 6,560 0 6,560
O0tss 1w 2 At| 6,560,000 6,560
Al 6,560
SEE HMSSIE ALY 32,000 0 32,000
301 dEtE M= 32,000 0 32,000
12 JIEtE A= 32,000 0 32,000
OXO0OIt= ssMHlA 80,000& %250 x163] 32,000
He 1,227,345 1,582,267 N 354,922
ANlE X4 & 29 1,227,345 1,582,267 A 354,922
o 2otEXHdE 29 1,227,345 1,582,267 A 3b4,922
201 et 109,974 112,936 AN2,962
02 232%H4| 109,974 112,936 A2,962
022322 % HA 109,974
O2A=3sANMH 2222 109,974,000 109,974
308 XAHXIGHSO0|& 268,800 265,040 3,760
10 2| 2SHUSHEAXERAE AL 268,800 265,040 3,760
O232a T2 29 249,800,000 249,800
oOYEHs 2« &2 243 29 19,000,000 19,000
309 =2 727,871 671,191 56,680
01 BAH- 2HINMNNEZ 727,871 671,191 56,680
O2U2=EXNHEH 29 727,871,000 727,871
404 ZAM2HE2NME2 120,700 533, 100 A412,400
01 Z2Al- SHASEE= 120,700 533, 100 A412,400




2N

WEHS

=R EENE=:D =
Chel: ZIANE =4 2 29 (EERED
SA - BB B () - MM - BES Ol &t o San HmEET
| | | O2L2=NMH 29 120,700,000& 120,700
Q0= £S5 18 XL 6,730,247 5,594,882 1,135,365
SO0, £- 35S MEX 6,730,247 5,594,882 1,135,365
st Xl e 6,730,247 5,594,882 1,135,365
201 Lty 32,700 31,120 1,580
01 AL 22/ H] 2,700 1,120 1,580
o2g+y 700
ONSAFH Ao HHL+Y
70,0009 «3% *13] 210
OMOAEIIS A3 EHasgy
70,0009 «7% *13] 490
O2F HEtYAl M2AH3 2,000,0002! 2,000
03 BAF2 I 30,000 30,000 0
O=XHS sl HEss 22,000,0002! 22,000
OXS&M B HAEY 8,000,0002! 8,000
307 2I2t0| & 108,000 108,000 0
02 QI2HH A ALY 2 = 8,000 8,000 0
ODIHITH OIS X 8,000,0002! 8,000
05 gI2te et 3 100,000 100,000 0
0S8 HAE Fo{AZT 29 100,000,0002 100,000
308 XX Al S 0l & 6,589,547 5,453,362 1,136,185
07 X223 99,000 63,000 36,000
O . NSsM oEY 222 X
99,000,0002! 99,000
08 WSI|ZOHEE X 5,608,547 5,158,362 450,185
O YA NAMY (R - X5 1)
2,950,000, 000¢! 2,950,000
OPAZAHl XL 2,546,172,000¢ 2,546,172
o=24a =Y X 112,375,0002 112,375
10 2O 2SOl CHEH 2 A X 2 AL Y] 882,000 232,000 650,000
OO Wt na 29 32,000,0002! 32,000
OSF VeI SLAY 50,000,000 50,000
O3 Us HEY 362,000,0002! 362,000
OS% stolall Az 36,000,000 36,000
O2F 013 XN2A & 202,000,0002! 202,000
OS2 ANE 2lad 200,000,000 200,000
MERS 243 18,716,874 23,672,698 A4,955,824
p] 310,704
Al 348,035
2 18,058,135
HEgs 2 #AXH 3,203,148 2,819,301 383,847
Il 310,704
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=

o

2
Ho
U]

o 0%
o

HEgs & dAXSH

CEB .G (3H) - NRAY - B2 ofl &k o San HDE2
Al 348,035
= 2,544,409
2sFE 29 1,264,954 1,186,404 78,550
Al 170,000
= 1,094,954
201 et A | 26,972 24,772 2,200
01 At 22l bl 12,972 10,772 2,200
ogs249| 2,000
O2s!? 28 #¢ 2,000,000& 2,000
(©FIpNE= 10,972
Oosddg =4 H4L)| 9 31,000 x12& 372
OXHOHOICHAE =4 AX2
400,000& x2=*x12& 9,600
O=422Ul slx=x2 S 1,000, 000& 1,000
02 =294l 14,000 14,000 0
03322 % MA 14,000
o= =4 22323 4,000,000 4,000
OHMHUHAE =L Z2R 4,000,000& 4,000
OTOHOl HAATIXE X2k S 2 Y|
500,000& x12& 6,000
202 04| 3,000 3,000 0
01 2LHHI 3,000 3,000 0
O 22 0l 3,000,000& 3,000
301 et M= 1,213,582 1,158,632 54,950
Al 170,000
= 1,043,582
V=Y - 2SRESEAM2 1,213,582 1,158,632 54,950
osdd 29 693,043
o= 292,729
. K= Xt 4,163,200 x 1 x12& 49,959
, A= 3,371,800& x6H x12& 242,770
Al 100,000
= 142,770
odz2x4¢ 24,395
. NZ Xt 4,163,200 *1/2%1H 23] 4,164
R 3,371,800 x1/2+x6H x23] 20,231
OdZx=Y I3 50,000& x4H x12& 2,400
OEE 40,000& x5H « 128 2,400
OdMZ A 130,000 x7H »12& 10,920
O=&tl 8,000 x 17 x6H x12& 9,792
OY ZE S| 29,273
. NEXt 4,163,200 x0.6%1H *23| 4,996
R 3,371,800& x0.6%6H x23| 24,277




2N nEMs
M MEHE 2435

°el H=2s ¥ AXE

SA BB O () - NRAY - HES 0l &+ o4 il
OgItEAZ
292,728,000 *1/12%86%1/30% 122 «80% 6,714
O&AZEXHI 13,140
. NEX 165,000& 1H 128 1,980
o M= 155,000& x6H x12& 11,160
Osds¥ 17,400
. NS X 250,000 x 18 128 3,000
. B 200,000 x6H «128 14,400
OXNEX==Y 100,000 x1H «12& 1,200
OXNE X &=l 500,000 x1&H 128 6,000
O2HAH| 50,0003 x7H «12& 4,200
O Eda2 500,000 x6H «12& 36,000
O& &= 25,000,000& 25,000
Ol =4l 20,000,000& 20,000
O2s83tl 40,000,000& 40,000
Ost=24gAY HAF Y| 3,000,000& x13] 3,000
Olislgds Za= 20,000,000& 20,000
Ot &ot3Hl 63,000,000& 63,000
Ozt 62,480,000& 62,480
OHd=2ME XNAS 3,000,000& 3,000
OFOO HAATZXE 2 520,539
OF =1 255,625
o NEX 3,384,800 x1H x12& 40,618
. B 2,986,200 x6H 123 215,007
Al 70,000
= 145,007
OFSE=E =y 8,860
. NEX 3,384,800 *25%* 1 23| 1,693
. M= 2,986,200 x20%*6 X »23| 7,167
(OFSEms ot =) P = 50,0003 x3H 128 1,800
OnExg 40,0003 x3H 128 1,440
OZ Az Al 130,000& «7H 128 10,920
O= &l 8,000& x17L x4H x12& 6,528
OZEFOtHI 25,563
. NEX 3,384,800 +0.6%1H »23| 4,062
o M= 2,986,200 0.6+6H »23| 21,501
Ot 4 3
255,624,000 *1/12%86% 1/30% 122! «80% 5,863
O&ASE 2| 13,140
. KNS X 165,000 x 1H x 123 1,980
. B 155,000& 6 122 11,160
Osd=sg 17,400
. NEX 250,000& x1H 128 3,000
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el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o M= 200,000 x6H x12& 14,400
OXNE ==Y 100,000& = 1H 128 1,200
OXE&EX &=l 500,000 x 18 128 6,000
OZtAlH| 50,0003 x7H «128 4,200
O =2 500,000 x6H x12& 36,000
O& &= 5,000,000& 5,000
Ol =t| 25,000,000& 25,000
O=2s83Hl 10,000, 000& 10,000
Olislgs Z&3 35,000,000& 35,000
O3 &ot&Zdl 50,000,000& 50,000
OHd=Z2HE XNAS 1,000, 000& 1,000
405 XHoHF S HI 11,400 0 11,400
01 XAt 2 ZFH S| 11,400 0 11,400
osddst =HZH 11,400
Osd&UI(-E=S It 7L
5,000,000 » 14! 5,000
OAZEYO(SH2HT2IY)7Y
4,000,000& =14 4,000
Oo&H#X0 7Y 2,000,000& » 14! 2,000
o=l 2 400,000 = 1CH 400
406 JIEFA 20| A 10,000 0 10,000
01 JIEFRHE0I A 10,000 0 10,000
OFMHHAAT AR =4 MNESS
10,000, 000& 10,000
sFcHE3 X3 279,078 225,031 54,047
301 LEXZ 32,000 30,000 2,000
06 BI2HRI = 2| (4 HI 32,000 30,000 2,000
OM=CH MR 32,000,000& 32,000
307 21201 A 247,078 195,031 52,047
02 LB AANFEX 7,000 7,000 0
OINEdEaHsEE 7,000,000 7,000
03 RBIZIEHHEE2HHIEX 230,078 188,031 42,047
o2=F= H=s3 29X 230,077,840& 230,078
04 QIZFHALAIH B = 10,000 0 10,000
OHENMSXNEX /IS 10,000, 000& 10,000
HEeEdEY M HZES8 NI (X)) 24,042 0 24,042
307 21201 A 24,042 0 24,042
02 IS AHE L 24,042 0 24,042
OMsE&aY M3 HES A& 24,042,000 24,042
O t=-¢E X2 45,000 36,000 9,000




2N nEMs
M MEHE 2435

S HSES L HAXE (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 45,000 36,000 9,000
02 PIZHEHAHEE 45,000 36,000 9,000
O=UE HAUAsH X 30,000, 000& 30,000
OS8HWIA=EH 2435 X& 15,000, 000& 15,000
MeEtxswna X3 20,286 20,286 0
Al 10,143
[ia 10,143
307 21201 A 20,286 20,286 0
Al 10,143
s 10,143
02 It S AIHE L 20,286 20,286 0
odMaEx=sna XA 20,286,000 20,286
Al 10,143
i 10,143
0ol Msua X2 4,320 4,320 0
Al 2,160
i 2,160
307 glz2tol & 4,320 4,320 0
Al 2,160
s 2,160
02 LIt HAMHEE 4,320 4,320 0
O0e ol Msna 4,320,000 4,320
Al 2,160
s 2,160
Fad Mand X 4,320 4,320 0
Al 2,160
s 2,160
307 21201 A 4,320 4,320 0
Al 2,160
e 2,160
02 QB AAFEX 4,320 4,320 0
O&FAYE NHewa 4,320,000 4,320
Al 2,160
s 2,160
=M=s0g N 3,960 3,960 0
Al 1,980
[ia 1,980
307 gl2tol & 3,960 3,960 0
Al 1,980
s 1,980
02 It M AHE L 3,960 3,960 0
OF=HsUH 3,960,000& 3,960
Al 1,980
s 1,980
MEYSAZA BHX(2SXH) 577,088 505,620 71,468




2N nEMs
M MEHE 2435

S HSES L HAXE (S &2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Pl 231,744
Al 144,672
= 200,672
307 2iz2to| A 577,088 505,620 71,468
J| 231,744
Al 144,672
= 200,672
02 QIZ2FA AAIE E X 577,088 505,620 71,468
OMEMEXNEK BHXI(B2SKH)
577,088,000 577,088
J| 231,744
Al 144,672
= 200,672
ATXAI0IEAH X 100,000 96, 160 3,840
J| 70,000
Al 15,000
= 15,000
307 2iz2to| A 100,000 96, 160 3,840
J| 70,000
Al 15,000
= 15,000
02 QIZFAAAIE E X 100,000 96, 160 3,840
OAEZ=AX0I=A K& 100,000, 000 100,000
J| 70,000
Al 15,000
= 15,000
ool AZT =202 XS 12,800 0 12,800
J| 8,960
Al 1,920
= 1,920
307 QI2t0| & 12,800 0 12,800
J| 8,960
Al 1,920
iy 1,920
02 QI2tAAMAIE E =X 12,800 0 12,800
O&UAZT=AFOIEHE NS 12,800,000& 12,800
J| 8,960
Al 1,920
= 1,920
E2Y 20|03 XA 185,600 160, 100 25,500
307 2Iz2t0| & 185,600 160, 100 25,500
04 SIZ2HSHAAISH E & 185,600 160, 100 25,500
O E¢&lal Al 5,000,000& 5,000
OHMZ223 22 S2U3Z 16,600,000& 16,600
OHMZ223 22D 2=U 3 6,000,000& 6,000
OM223 2F24J HUAUS 7,000,000& 7,000




2N nEMs
M MEHE 2435

S HSES L HAXE (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OHM223 2F2%J HOE=US
6,000,000& 6,000
OH215 2F24I| HHERIEHS
13,000,000& 13,000
OHM213 2F2%7 &32U 3 9,000,000 9,000
OHM213 2F22) E2UI 6,000,000& 6,000
OHM203 2F2%) =2 U3 7,000,000 7,000
OHM193 2F2x)| BH2U 3 6,000,000& 6,000
OHM183 2F2xJ SEUH 3 6,000,000 6,000
OHMI173 2F2+J] 02U 3 6,000,000& 6,000
OHM163 2FZ2I| SAE LAl SOISHOIE
=03 6,000,000& 6,000
OHM153 2= IHH 220 3l
6,000,000& 6,000
OHMI133 2F2x) 2=U3 6,000,000 6,000
OM123 =201 =gU3 6,000,000 6,000
OHM113 2F2x) 283U
6,000,000& 6,000
OHM11a 8F2%J] ARAANUSZ 6,000,000& 6,000
OM108 2820 A=W
6,000,000& 6,000
OM10a 2240 44U 6,000,000 6,000
OHM108 =24 BE72U 3 6,000,000& 6,000
OM83 2242 242/U3 6,000,000 6,000
OM78 2FZ4)| HAAZXUF
6,000,000 6,000
OHMB63 2= =2U3 6,000,000& 6,000
OHMb53 2220 QIIUE 6,000,000 6,000
OMN43 22 HAEEZUZ 6,000,000& 6,000
OHMI13 2=x=22) MEMXEUS 4,000,000 4,000
OHM1g 2220 2Z U3 4,000,000& 4,000
e 2435 X3 236,700 232,100 4,600
201 et A H| 3,600 0 3,600
01 Al 22! 8| 3,600 0 3,600
©O0|Y3ZE 22 (SH, I EHHN)
3,600,000 3,600
307 212t0| & 233,100 232,100 1,000
02 DI2tF AAHEE X 58,000 45,000 13,000
ON=2Ua (HOHQIEE) SHXAAANY
35,000,000& 35,000
ostuess® N 23,000, 000& 23,000
04 QI2FSH AFAFS B X 175,100 187,100 A 12,000
OHM233 AIMEHUZH 111,500, 000& 111,500
ONER L 2R =303 12,000,000& 12,000
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M MEHE 2435

Sl HSES 2 BAX CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O5.% MM (52, 017)
24,000,000 24,000
Oz MSUY & L FST AlaA
20,000,000& 20,000
O2== JIEHHERE 3l 4,000,000& 4,000
OJAHOIE=EdHEa A2l 3,600,000 3,600
=03 iz X 345,000 345,000 0
307 21201 A 345,000 345,000 0
04 DIZHHALALSE E X 345,000 345,000 0
O&= =stn =7 AEEcC O 3l
90,000, 000& 90,000
ONER B0 AZZUSE 75,000,000& 75,000
Ot I AZ=Ze0lLHS
80,000,000& 80,000
ogdgdgaA MIMB 2l X 100,000, 000& 100,000
HEE0F 2 MR 100,000 0 100,000
201 Let24E] 30,000 0 30,000
01 At 22l 30,000 0 30,000
OQIZteH HM=Ews 249l 30,000,000& 30,000
301 LA F 70,000 0 70,000
07 2BI=& 0 bl 70,000 0 70,000
Oo2teH HMEws:c =W 70,000,000& 70,000
HMsAE €8 & 2l 15,513,726 20,853,397 25,339,671
MEHSAE &X 3,433,557 181,630 3,251,927
203 YR =&l 1,000 1,000 0
03 AIMZ=XH R =AH| 1,000 1,000 0
OMESAL SX28 Y2 =EA
1,000, 000& 1,000
401 Al IR 201 I 3,432,557 180,630 3,251,927
01 A& tI 3,422,000 180,000 3,242,000
O2UZSHNSHE CIRLY (HAANE S) =
At 1,670,000, 000& 1,670,000
OIUMSHH 2L (USHA ) SA
42,000,000& 42,000
ORAMEZSE =X 2 Az EXSA
150,000, 000& 150,000
ORHFSSH 2YM 159 SXBA(ZOE
O Ofl &F) 200,000,000 200,000
OYANMIIA=EZZE AXI3A 300,000, 000& 300,000
OSENOE=SE NS &AXZA
200,000, 000& 200,000
OAALAHOE=ZH £ £ FX 08I
500,000, 000& 500,000
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2N nEMs
M MEHE 2435

el MIAE ’z; & 2t (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O2LAHOEZSH £ £ EX 0
360,000, 000& 360,000
03 Al 2 THHI 10,557 630 9,927
OA &SI 3,910,000,000& *0.27% 10,557
MEHSAE S 2 4,167,266 3,146,063 1,021,203
201 L2l 1,131,964 1,102,129 29,835
01 At 221l 63,000 64,801 A 1,801
OAE HMESAE ANERX 425 74
3,000,000& 3,000
o4& HESAE 2Z2RA dXUE
(FEZLHIE S 8IA) 60,000,000& 60,000
02 2324l 1,068,964 1,037,328 31,636
o0z3&E2= & HMHA 1,068,964
OMESANE 2L (A8 3E) 1,018,972
. dIIR3 389,412,000 389,412
. Aot ER3 209,796,000& 209,796
. s3I 46,068,000 46,068
. SAIARZ 373,696,000 373,696
OA& HEANE 3323 49,992
. HNOIESE, X4FTS 532
45,432,000 45,432
. SEAN0ESE AYoHM2teld|
2,280,000& 2,280
. SEAN0ESE HIItH 2teld|
2,280,000& 2,280
309 =2 1,397,428 1,265,020 132,408
01 SAt- SHINEES 1,397,428 1,265,020 132,408
OANE2e3H HEAd 29
1,397,428,000& 1,397,428
401 Al HIZ 201 8] 1,274,572 602,774 671,798
01 A& HI 1,270,000 599,000 671,000
OUERAEZ=IMI FMHA=XAA ZH SA
30,000, 000& 30,000
Ot =HAUMSZ LUHE EXSA
50,000,000& 50,000
OMSAE =J/1H2H ZX3A 30,000,000 30,000
OHEMIA=ZH 2 1A &0 H=HY S
40,000,000& 40,000
Oud=E2sd 2 1L AZEC WM 3A
720,000,000 720,000
ONEZSEIZLE AXZZO WHSA
100,000, 000& 100,000
OHd=z2d HENMIAE ZHSA
100,000, 000& 100,000




2N
X ZH -
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el

WEHS
HENE 243
2

HEAE &8 & 22

SA - ZE-B(EN) - NRAY - B S il &t o il RS2
OMEXNSAE 258 FANE=ZA
200,000, 000& 200,000
03 Al& 20y bl 4,572 3,774 798
OA &SI 1,270,000,000& *0.36% 4,572
404 SASHHEHES 363,302 173,200 190, 102
01 SA - SEHUSEES 363,302 173,200 190, 102
oAzl MSAE 22 363,302,000 363,302
=M HSsHdE 2 2,288,466 2,177,850 110,616
308 XX EHH SOl A 528,269 478,611 49,658
1037/ 2S0HUHeEH4EAE ALS HI 528,269 478,611 49,658
O2¢ZstHsdH 2208 29
528,269,000 528,269
309 HE2 1,736,607 1,675,439 61,258
01 BAH- BHBNREZ 1,736,697 1,675,439 61,258
O2UZsHsdH 29 1,736,697,000& 1,736,697
404 SANSHUA=2EHES 23,500 23,800 A 300
01 BA- SEHA=2EEZ 23,500 23,800 A 300
O2UZsHsHdH 29 23,500,000& 23,500
SFZIUNSHIH 29 2,483,037 2,302,854 180, 183
308 XtXIEHH SOl A 714,184 649,095 65,089
10 B2 S0 3&HAE A 714,184 649,095 65,089
O=oHMsdH Z208 29 N
714,184,000 714,184
309 MEZ 1,746,853 1,621,759 125,094
01 SAt- SHINTES 1,746,853 1,621,759 125,094
O2=Z=320UNSHH 29 1,746,853,000& 1,746,853
404 SASHIUHEHES 22,000 32,000 210,000
01 SAt- BHUAE2HES 22,000 32,000 A 10,000
osx=2=320UM=EdH 24 22,000,000& 22,000
S=SENSMH A (H =) 3,041,400 0 3,041,400
401 Al & HI & 28I 3,041,400 0 3,041,400
01 A& HI 3,000,000 0 3,000,000
OS=ZTENSHH A 3,000,000, 000& 3,000,000
02 Zeltl 30,600 0 30,600
OSEZBASME 28
2,000,000,000& *1.53% 30,600
03 A& S THHI 10,800 0 10,800
OSZENSHE AE
3,000,000,000& *0.36% 10,800
HFEM=ASSHH HE 100,000 0 100,000




2N

WEHS

M dEgds 2435
Sl MSAE 2y o #e (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 100,000 0 100,000
01 A& HI 100,000 0 100,000
OFHNE2st=edyH 2 100,000
Ottgdd & ZAAEANE 28 4
100,000, 000& 100,000
HYALX BHA3G 708,028 904,190 A 196,162
= 10,000
Al 55,000
e 643,028
HEAZ= 2435 X 708,028 904,190 A 196,162
= 10,000
Al 55,000
s 643,028
Mot MM Ews 29 53,390 30,490 22,900
= 10,000
Al 5,000
e 38,390
201 Let24E] 13,390 10,490 2,900
01 At 22l 5,390 3,490 1,900
oYUM RS SIQABLLY
70,0003 7 *13 490
O MMERY S S22 HE 4,900
OHMEHX M = 150& x10,000& 1,500
Os&eE=28 #¢ 3,400,000& 3,400
02 2324gHl 8,000 7,000 1,000
Ox=&dMNESEEER 8,000,000& 8,000
307 gl2tol & 30,000 20,000 10,000
= 10,000
Al 5,000
fia 15,000
02 IZHE M AHE L 30,000 20,000 10,000
O&dtof 2 M MEn 29 30,000, 000& 30,000
= 10,000
Al 5,000
[ia 15,000
405 TtabF S| 10,000 0 10,000
01 et ESFHSHI 10,000 0 10,000
Odidd == M &H & 10,000, 000& 10,000
HdAE HE ol =E 2 40,000 50,000 A 10,000
307 21201 A 40,000 50,000 210,000
02 It S AIHE L 40,000 50,000 A 10,000
O&FAHE HE HLBE 2 40,000,000& 40,000
S&SF Aok PNAMIHIZ EXME T2 430,000 430,000 0




M DM
M GYATE B
ool HYAEE BHS X el E )
SN HH-S(BN) - MBAY - B il HlnE2
Al 50,000
s 380,000
307 glz2tol & 430,000 430,000 0
Al 50,000
s 380,000
04 DI2HHALALSE E X 430,000 430,000 0
©2020 2423 &G PNAMIHAIRIEAZ TS
430,000,000& 430,000
Al 50,000
e 380,000
STl d=FEMEHE 53,000 55,000 A 2,000
307 g1+l & 53,000 55,000 A 2,000
04 DIZESHALAIHE E X 53,000 55,000 A 2,000
OHgsl ===t d32=A sl
53,000,000& 53,000
== gddZz=dH 24 131,638 338,700 A 207,062
201 Let24d] 76,300 25,700 50,600
01 At 22/l 57,800 7,200 50,600
OCeIENE Ad=S 2 Xyl 30,000, 000& 30,000
oIt 2 e = Al 5,800,000 5,800
OsZJIsAe|tHd =2 2,000,000& 2,000
O23E2 g L xtdl 5,000,000& 5,000
ORHE % HFRHE &X 2l 10,000, 000& 10,000
OHLXMEHAL AIEE & Xl 5,000,000& 5,000
02 =224l 18,500 18,500 0
OISt & BH3lHl 9,500,000& 9,500
OAL7A2 ANEFEUIRX 9,000,000& 9,000
401 Al HI L 2 THHI 25,000 306, 000 A 281,000
01 A& HI 25,000 306,000 A 281,000
O=2=F HYdE=dH A= &X 25,000
OAlUR 8XIAE S 25,000,000& 25,000
405 XHAHE S| 30,338 7,000 23,338
01 AL EZFH S 30,338 7,000 23,338
oxZz)d 23 =25+2 30,338
OeldaxE 7 3,938,000 3,938
OdHAM= NEs Agtd OtulA
220,000& 104 2,200
OdHAMsE A58 M4 OtdlZ
6,600,000 6,600
Ol LA EZ=FHHI(HFE,22UO0ILANE)
10,500, 000& 10,500
O&EH LY 3,200,000& 3,200
Odfl&Ed e 2,400,000 2,400
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M DM
HE: UALE B
ool HYAZx BHE X (ol @)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
| | | SIEYTE=P] 1,500,000 1,500
HHR2IZH(REHSH) 198,048 195,825 2,223
AU (NS N) 111,012 108,789 2,223
lERIAH (M) 111,012 108,789 2,223
101 @124 Hl 111,012 108,789 2,223
01 2= 104,706 102,609 2,097
OAZIZESE 11,6343 x50 Al 2t 15 » 122 104,706
02 JIEtE B = 6,306 6,180 126
OANZL2RSH(LBHAIIH)
10,5093 *50A1 2t x1H x 128 6,306
JlgZbl(nEeds) 87,036 87,036 0
Jl2dgl (L) 87,036 87,036 0
201 L2l 34,476 34,476 0
01 At 22l 34,476 34,476 0
OgBt+=&H| 13,260
OZHM&2H 13,260,000 13,260
O =&l 8,000& x17&H x134Ix128 21,216
202 odl 48,960 48,960 0
01 = LH o4 1l 48,960 48,960 0
O 2t 240,000& 17"« 123 48,960
203 YR =&l 3,600 3,600 0
04 EANSIHRF=EHI 3,600 3,600 0
ORN2IYSZ=AHI 300,000& »12& 3,600




